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560 rounded off to the nearest hundred 
is 600

Answer: 

Any number between 850 and 949 
rounded to the nearest 100 is 900.  

Answer: 

249 rounded off to the nearest 100
is 300

Answer: 

950 rounded off to the nearest 100
is 1,000

Answer: 

44 rounded off to the nearest hundred
is 100

Answer: 

51 rounded to the nearest hundred
is 100

Answer: 

the sum of 140 and 80 rounded off 
to the nearest hundred is 200

Answer: 

the difference between 1,000 and 450 
rounded to the nearest 100 is 500

Answer: 

the product of 10 and 24 rounded 
off to the nearest 100 is 200

Answer: 

the sum of  100, 150 and 40 rounded 
off to the nearest hundred is 300

Answer: 

0 rounded off to the nearest 100 is
10

Answer: 

the product of 20 and 20 rounded off 
to the nearest hundred is 800

Answer: 

Are the following statements true or false?
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Answers

560 rounded off to the nearest hundred 
is 600

Answer: true

Any number between 850 and 949 
rounded to the nearest 100 is 900.  

Answer: true

249 rounded off to the nearest 100
is 300

Answer: false

950 rounded off to the nearest 100
is 1,000

Answer: true

44 rounded off to the nearest hundred
is 100

Answer: false

51 rounded to the nearest hundred
is 100

Answer: true

the sum of 140 and 80 rounded off 
to the nearest hundred is 200

Answer: true

the difference between 1,000 and 450 
rounded to the nearest 100 is 500

Answer: false

the product of 10 and 24 rounded 
off to the nearest 100 is 200

Answer: true

the sum of  100, 150 and 40 rounded 
off to the nearest hundred is 300

Answer: true

0 rounded off to the nearest 100 is
10

Answer: false

the product of 20 and 20 rounded off 
to the nearest hundred is 800

Answer: false

Are the following statements true or false?


